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Sample Paper – 2012
Class – XII
 Subject – Multimedia And Web Technology

Time allowed: 3 hours



Maximum Marks : 70

Note : 

· Please check that this question paper contains 7 questions..

· Answer the questions after carefully reading the text.

· Please write down the serial number of the question before attempting it .

___________________________________________________________________
1. (a)  Define the following terms





1

1. Composite key OR Cartesian Product

(b)   Consider the following tables BANK  and CUSTOMER. Study the 

following  data and  answer the question given below :
Table  BANK 

	AccNo


	Name


	DB_Amt


	CR_Amt


	Balance
	Tr_Date

	3035
	Abhinav 
	10000
	30000
	200000
	27-12-‘07

	6542
	Karan
	5000
	45000
	500000
	29-12-‘07

	2222
	Parteek
	7000
	145000
	1400000
	22-12-‘07

	3571
	Sanjoli
	8000
	2459700
	2451700
	30-12-‘07


Table  : CUSTOMER

	AccNo
	Address
	PhoneNo
	Photograph
	Sign_Sample

	3571
	Sec-17
	987652222
	C:\image\san.jpg
	C:\image\ssig.jpg

	3035
	Sec-16
	986753333
	C:\image\bel.jpg
	C:\image\bsig.jpg

	2222
	Sec-34
	987898765
	D: \g.jpg
	D:\ gsig.jpg

	3035
	Sec-17
	986753334
	C:\image\cel.jpg
	C:\image\csig.jpg


(i) Suggest data types that should be used for each of the fields in the table

 Bank 
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(ii) What type of relationship exists between the table BANK and the table 

CUSTOMER?






1


(iii) Name the field that can be set as a foreign key in the table CUSTOMER.
1

 (c ) What do you understand by W3C ? 




1

 (d) What is the purpose of “Default Value” property in MS ACCESS? 

1

 (e) Define the following term 


i) DAT


ii) PNG
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(f) Define the terms TOMCAT , PYTHON.




1

2.  Questions given below are based on Macromedia Flash:

(a)  What do you understand by timeline?




1
(b)  Define stroke. What is default stroke style?



1
(c)  What is the use of  SWF files ?




1

(d)  Differentiate between  guide layer and mask layer ?


2
(e)  Define blank key frame .





1
(f)  Observe the figure given bellow and do as directed :


4


[image: image1]
· The text “learn flash 5.0 in three days “ shows the position and size  in  frame 1.

· The solid  circle image shows the position and size of the image for mask layer.

Write the procedure and property settings for animating the above scenario.

3 .  Question given below are based on HTML:
a) What is the use of TEXTAREA ? write all the attribute of textarea.

2
b)     Write the HTML code to generate a Web Page in the format given below : 
8

Consider the following while writing the HTML code :

1. Background of  page green , link colour is red , active link color is pink and visited 

    link colour is brown .

2. Title of the page is “Industry”.

3. Heading of the page is gray.

4. image used is “costcutting.jpg”

5. caption of table is sky blue.

6. table border is blue and of size 2.

7. First row of table has background color “cyan”

8. Pages linked to :

Analytical as “al.html”

synthetical as “syn.html”

assembling as “abl.html”

9 .Image used at the bottom is try1.gif and it acts as a link to ASD.html .the link 

    for “ table of contents ” is also same .
[image: image4.png]
4. Question given below are based on ASP :
(a) Identify which of the following are valid variable name.


1

i) xnum
ii) num c
iii) dim 

iv) 4you

(b) How the application_Onstart is different from session_Onstart event ?
1

(c) Explain Atendofline property of textstream object with an example .             2                                                   
(d) Differentiate between choosecontent and getallcontent of content rotator 

component. 







1

(e) Explain with example the usage of following inbuilt function:

2
i. Ccur()

ii. Cint()

(f) Find output







3
i. Response.write(strreverse (left(mid(“Must write supporting answer”,6,6),4)))

ii. Response.write(monthname(month(“16-01-2009”)))
iii. Response.write( (8*2-5+18<34) XOR (9>5) )

5. Question given below are based on ASP :

(a) Differentiate between optimistic and pessimistic locking of a record set.
2

(b) Describe any two methods of response object .



1  
(c).  Find the errors in the following ASP code



2

<mtnl>


<body>


<% 


s=” Dynamic Array”


do while (i<7)


if mod(len(s),2)



response.write (n)



next %>



</body>



</html>

(d) Find the output of the following ASP coding



2



<% arr=array(25,12,36,65,69,62,21,14,15,36)




max=ubound(arr)




for I = max to 1 step -2





arr(i)=abs(50-arr(i))




next




for I = 1 to max 





response.write(arr(i) & “<br>”)




next   %>

 (e) Write a program in ASP to count of the word “is” as an independent word in a text file endavour.txt.
for example 

This is his book . is this book good ?

Then the output of the program should be 2.

6.  Question given below are based on VBScript :

(a)   Define array. What is the significance of array? How is it declared?
1

(b) Change the following script using For……… next without affecting the output:









2

dim name , i
i=1
name= “ARYAN”

do while I <= len (name)


document.write instr(mid(name,i),”A”)

i=i+1

loop

c) Give the output for the following script code:



2


dim x,y

y=10


for x= 1 to 4 step 1



if (x mod 2 ) = 0 then




y=y-x



else




y=y+2*x



end if



document.write (y)


next

d)Rewrite the following code after removing errors with each correction 

    underline:







2

 
<script>


sub result()




dim K,M




while (K<10 and M>5)




if K % 3 = = 0 





K=K+M




else






K=K-M






M=M+3




Loop





Document.print(“K=” +K)


</script>

e ) Write the HTML code for creating the form given below and also write the embedded VBScript code for the click event of the verify button, such that it displays a required message..







3
Apply the following validations :

· Enrollment number must be of 4 digit
· The charge per semester are as follows

Facility




Course

Library

Rs 5000


MCA 
Rs. 50000

Hostel

Rs. 15000

MBA
Rs. 56000

· Calculate the charges per semester (six months)  for the facility availed. 


[image: image2]
7.  Following questions are based on web technologies :
(a)  Differentiate between ring and bus topology .



1

(b)  What is cyber low?






1

(c)  Differentiate between synchronous and asynchronous transmission.
1

(d)  Explain the following term





3

i. WLL

ii. GSM

iii. IMAP

 (e) 
The Indian public school of Selaqui Dehradun  has set up its new center at Mangalore for its office and web based activities, it has 4 blocks of buildings as shown in the diagram below : 








4


[image: image3]
The distances between the different blocks are given below :

Block A to Block B

75 m
Block B to Block C

160 m

Block C to Block D

59 m

Block A to Block D

200 m

Block B to Block D

50 m

Block A to Block C

115 m

Number of computers

Block A 


34

Block B 



50

Block C 



134

Block D 


1

Answer the following questions based on the above given information :

(i) Suggest suitable cable layout(s) for connecting the blocks.

(ii) Where do you think the server should be placed and explain why ?

(iii) The school is planning to link its office situated in the hilly region where cable connection is not feasible , suggest an economic way to connect it with reasonably high speed.
(iv) Where and why should repeaters and hub/switch be used ?





******************
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